
                                                  

 

.)33!. .!6!2! $ςσ 
.0σππ $52!-!8 
).4%2#//,%2 
50'2!$% 

Parts supplied  
1x Plazmaman Intercooler   

1x Hot side silicone hose 

1x Hot side circlip adapter 

1x Cold side silicone hose 

1x Driver side lower intercooler bracket 

1x Passenger side lower intercooler bracket 

1x Bar support 

2x Top intercooler brackets 

1x Water hard line support bracket 

1x Radiator hose support bracket 

1x Hose support bracket 

1x Fan shroud cover 

мȄ нέ t-Clamp 

4x #36 Hose clamps 

2x M8x12mm Hex Bolts 

2x M8 Spring washer 

2x M8 Flat washer 

1x M6x20mm Hex bolt 

2x M6 Spring washer 

3x 6mm Self tapping screws 

1x M6 x16mm Hex Bolt 

  

 

 

 

           Procedure  
1. Remove FOUR top grill clips. 

 

2. Remove FOURTEEN bolts from the bottom of the 

bumper and stone. 

 

3. Remove screw from inside of the wheel well. 

Repeat for other side. 

 

4. Pull the plastic from inside the wheel well away 

from the front bumper to expose the 10mm bolt 

holding the bumper to the guard and remove. 

Repeat for other side. 



 

5. Using a flat blade screw driver, turn to unlock 

the FOUR plastic fasteners hidden inside the 

front of the grill. 

       

6. Release the SIX tabs hidden behind the front grill 

while pulling the grill forward to release it from 

the radiator support.  

 

7. Using a Philips screw driver, remove the THREE 

fasteners from the top of the bumper. 

8.  

 
 

 

9. Carefully pull the bumper away from the 

headlight area to release it from the vehicle, this 

should be done simultaneously on both sides 

with two people. Disconnect the front fog lights 

when the bumper is pulled away. 

 

 
 

9. Release the FOUR clips from the sides of the 

intercooler duct and remove.

 
 

  

 

 

 



 

 

 

10. Remove the TWO 10mm bolts holding the 

stone tray and remove.

 
11. Release the FOUR remaining clips retaining the 

side intercooler ducts and remove.

 
12. Remove the TWO 10mm bolts holding the fan 

shroud to the intercooler.

 
13. Remove the 10mm bolt holding the radiator 

hose to the fan shroud.

 
 

 

 

 

 

 

 

14. Pry the fan shroud retaining clips away from 

the intercooler to release. 

 

 

15. Remove the TWO 13mm nuts from the top 

intercooler brackets. 

 

16. Remove the FOUR 13mm bolts holding the 

intercooler bracket to the chassis rail and 

remove. 

 

17. Remove the standard air intake hose and cover 

the turbo inlet with masking tape to avoid 

small part ingestion. This will expose the hot 

side circlip. 



 

 

18. Using a flat blade screw driver, gently pry the 

circlip into the locked open position, repeat for 

the opposite side of the coupling. Take care to 

not use excessive force, the pipe should pull 

away easily. 

 

19. For the cold side, simply undo the hose clamp 

on the hose. The intercooler should now be 

easily removed from under the vehicle with the 

factory hoses still attached to the intercooler. 

 

 

 

20. Remove TWO 10mm nuts holding the centre  

bar support and remove. 

 

21. Undo the 10mm bolt holding the water hose 

hard line the passenger side pump bracket. 

Retain the bolt. 

 

 

 


